TT-761

KOHLER - / INSTRUCTIONS
POWER SYSTEMS o

Engine Block Heater Kits (Tank—Type) 20—60R0OZJ
4239D, 4239T, 4039D, and 4039T
(John Deere—Powered Standby Generator Sets)

Model Voltage Kit No. NOTE
20—-60R0OZJ 120 PA-275584  Block heater will fail if not immersed in water.
20-60R0OZJ 240 PA-275589  Always unplug block heater(s) before draining

coolant and fill engine block with coolant prior to
The engine block heater kit is used to heat engingplugging in block heater(s). Block heater element
coolant, making starting easier and warm—upMUST be immersed in engine coolant befoeeng
quicker. The thermostat wilhutomatically turn df  energized.
when coolant temperature reaches’B2@1FC).

- L ]
—éh A WARNING
A WARNING ! x Hot coolant can cause severe burns.

Allow engine to cool and release pressure from
cooling system before opening pressure cap. To
releasepressure, cover the pressure cap with a thick

and remove battery cables (remove negative Iea&lOth then turn it slowly counterclockwise to the

first and reconnect it last) to disable generator setfIrSt stop. After pressure has been completely
before working on any equipment connected toreleasedand the engine has cooled, remove cap. If

generator. The generator set can be started b enerator set is equipped with a coolant recovery

automatic transfer switch or remote start/stop ank, check coolant level at tank.
switch unless these precautions are followed. Installation

Illm 1. Movecontroller master switch to OF#osition.

Disconnect battery of generator set, negative
lead first.

Accidental starting can cause death or serious
personalinjury . Turn Generator Master Switch to
OFF position, disconnect powés battery chager,

A cauTiON

Engine block heater can cause electrlcal shock.
Remove engine block heater plug from electrical NOTE

outlet before working on block heater electrical Drain valve is located on radiator bottom
connections. and/or side of engine crankcase.



X-582-3 X-206—4

VIEW A-A

For City Water Cooled Units

X-391-2
Install Directly
Below Lower

DG-273000

Route wire along

Radiator Hose — et Radiator hose.
, = Tie with
> o X—468-4 (2)
Pipe Plug Location il ==puine 'Lig |I
— |
Rotate fittings k-J A e
so hose is = el | !
r | | |
directed to- ab |- | 275581
ward block | | /_ X—426-6 (2)
heater., A // 71 LA =Y I ; '
e o] |
X-577-35 EE ™|l |
X-426-10 (2) g { ! !
SSEN NIV
| p= | ,
\ ey N
\ dL | ql
(<}
- | |
27558\k =)
X-465-7 (4) ¥ 5
X—25-40 (4) : 3.00 REF.
X-20-1 (4) - ' 1.00 CUT OUT AND REMOVE
X-81-1 (4) 7 FROM HOSE.
‘ W lﬁ
276691 (Kit PA—275584)—/ 27.0 REF.
(Ki X—577—-44

276692 (Kit PA—275589)

Use X-468-1 (2) to tie ther-
mostat wire to block heater
hose. (Coil excess wire and
tie to hose.)

279047

X-426-10 (2)

Note: Route Hose Between
Oil Pan and R.H. Engine Sug
port. Use X—-468-1 to tie hog
to crossmember so that hose
does not sag between cross-
member and block heater.

Figure 1. Block Heater Installation (Tank—Type)

e



. With generator set sfigiently cooled, drairthe
coolant into a suitable containeDispose of
used engine coolant in an environmentally
safemanner. Take used coolant to a suitable
collection facility in your area. Do not pour
usedcoolant on the gound, down sewers, or
into streams and other bodies of water.

Removepipe plug from engine using a 5f&h
allen socket wrench. Clean hole and remove
burrs. See Figure 1 for location.

NOTE

Apply pipe sealant to male threads of all
components when assembling.

11.

. Install 3/4 inch reducer bushing (X-202-1),
pipe nipple (X—206-4), elbow (X-215-2), and
hose connector (X-582-3) into block where
pipe plug was located. See Figure 1. View

A-A.

10.

outlet. Cut at these marks to remove 1 in. (25
mm) from hose.

Placewo laige hose clamps (X—426—6) on cut
radiator hose (one on each end). Install hose
connector (275581) with nipple pointing
downward. Locate hose clamp (X—426-10)
1/4 in. (6 mm) from end of hose (X-577-44)
and tighten to nipple on hose connector.

If installing block heater kit on a city water
cooledunit: Install hose connector (X—391-2)
directly below lower radiator hose as shown in
Figure 1. Locate hose clamp (X-426-10) 1/4
in. (6 mm) from end of hose (X-577-44) and
tighten to hose connector. (ltems 275581 —
Hose connector, and X—426-6 — Hose clamps
will not be used in this instance.)

12. Use cable tie (X-468-1) to tie hose to

crossmembeso that hose does not sag between
crossmember and block heater. See Figure 1.

Locatehose clamp (X-426-10) 1/4in. (6 mm) 13, | ocatethermostat at position shown in Figure 1

from end of hose (X-577-35) and tighten to
hose connector mentioned in Step 4.

. Attach mounting bracket (275583) to skid
using mounting hardware supplied.

Install block heater (276691 or 276692) to
mounting bracket. Locate hose clamp

(X—426-10) 1/4 in. (6 mm) from end of hose 1°-

(X-577-35)and tighten to block heater outlet.

. Connechose (X-577-44) tblock heater inlet
with hose clamp (X-426-10). Locate hose

clamp 1/4 in (6 mm) from end of hose. Route

hosebetween oil pan and.H. engine support.

NOTE

If installing block heater kit on a city water
cooledunit, omit steps #9 and #10 and proceed
to step #11.

Locate lower radiator hose and mark hose at 3
in. (76 mm) and 4 in. (102 mm) from radiator

16.

17.

by removing existing plug in block(NOTE: If
by—pass hose is located in this position, use
service kit #276577 to upfit.)

14. Route wire (from block heater to thermostat)

along radiator hose. Tie with cable tie

(X—468-4).

Use cable ties, as necessary, to protect and
secure wiring from sharp objects, exhaust
system, and any moving parts.

Closepetcock valves on radiator andéngine
block.

Fill cooling system to proper level with fresh
coolant. A solutionof 50% ethylene glycol and
50% clean, softened water is recommended to
inhibit rust/corrosion and provide freezing
protection. See able 1 for coolant capacities.

NOTE

Coolant mixtures exceeding 50% ethylene
glycol may cause blockeater element failure.



Standard Remote City—Water 19. Test run generator set for a few minutes and
EAOOF(;I(E)lZJ Rgd(ifl?toé) Ragdi(?gta(,)rl) %0%9?12 3 checkfor leaks. Stop generator set and after set
30ROZJ 5 (17.6) 9(341) 3.25(12.3) has cooled, check coolant level.
40R0ZJ 5 (17.6) 9(34.1) 3.25(12.3) NOTE
50R0ZJ 5 (17.6) 9(34.1) 3.25(12.3)
60ROZJ 5(17.6) 9(34.1) 3.25(12.3) Special attention should be given when

checking for proper coolant level. After a
radiator has been drained, it normally requires
some time before complete refill of all air
cavities takes place.

NOTE: Capacities shown may vary from model to
model and are subject to change.

Table 1. Coolant Capacities — U.S. Gal. (L)

18. Checkthatthe controller master switch is in the 20. Connect block heater electrical plug to proper
OFF position. Reconnect batteryegative lead voltage outlet. Tie hang tag (279047) to
last. electrical cord coming from block heater.

Parts Listing

Common Kit Numbers
Qty Description Parts PA-275584 PA-275589
1 Elbow, Pipe 3/4” X-215-2
4 Washer, Lock 1/4” X-20-1
1 Bushing, Reducer 3/4” x 1” X-202-1
4 Washer, Plain 9/32” x 5/8” x .05”  X-25-40
4 Clamp, Hose 1/2”" x 1” X-426-10
2 Clamp, Hose 1-9/16" x 2-1/2" X-426-6
4 Screw, H.C. 1/4-20 x 1” X-465-7
1 Hose 30” X-577-35
1 Connector, Hose X-582-3
4 Nut, Hex. 1/4"-20 X-81-1
1 Connector, Hose 275581
1 Bracket, Mounting 275583
1 Heater, Block 276691 276692
1 Tag, Hang 279047
1 Nipple, Pipe 3/4” x 2.5” X-206-4
3 Cable Tie X-468-1
2 Cable Tie X-468-4
1 Hose 27" X-577-44
1 Connector, Hose X-391-2




